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FACULTY OF COMMERCE
B.Com. (First Year) (First Semester) EXAMINATION
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BUSINESS ECONOMICS

Paper 1
(MCQ + Theory)
(Saturday, 20-10-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (1) Solve question No. 1 on OMR sheet and first half an hour for

this question.

(1) Question Nos. 1 and 2 are compulsory.

(111  All questions carry equal marks.

(iv) Negative marks for wrong answers.

(1) W . 1 & OMR sheet 3R Hiedl MU ARl Ufgan 781 a9 s
e,

() Y H 19 2 AFEE TR

(i) EE YA GHE O ST

(iv)  Fehi=al S RUMHS: 01 Tl Sirdia.

(MCQ) 10
1. Multiple Choice Questions :
agwfqﬁ R
(1) What is the scope of Business Economics ?
(a)  Cost of Production (b)  Pricing
(o Profit (d)  All of these
IS AUV AT It ?
() SEd T (b  ferma =
(9  TH1 (d Ao ¥d
P.T.O.
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Business Economics is ...ccoceeuveenvennennnes

(a) Social Science

(b) Natural Science

(9  Geology

(d) None of the above

eI ST ® e o
(a) HHEISR I

(b) “Hfifew I

(0  YfoH

(d) ScTush! el

...................... measures the responsiveness of quantity demanded of a

commodity to a change in its income.

(a)  Price elasticity of demand

(b) Income elasticity of demand

(0 Cross elasticity of demand

(d)  None of the above

I BT SGeATos T&A1 HITUM BV SIqeiT=al JHIumE FEUIAT.
(a) Wi foRua ctafehar

(b)  HWU= 3T Tareehdl

(0 wmTofi=ht fawerd rerfeenan

(d) ~ FlcAUeR! &

In case of neutral goods the cross elasticity of demand is :

(a)  Zero (b)  Negative

(o Positive (d) None of these
ORGSO T HeHid ARl fovehs aafashar oo 3T,
(@ I (b)  RUCH

(0 o cTH (d) et A
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Production may be defined as an act of :
(a) Creating utility and value in exchange
(b) Earning profit
(0 Destroying utility

(d) Providing services

‘I’ it e SR hell S Wehd
(a) SUAMT@ § fofta geatarHd

(b)  T®H YT

(9  SUFAT '™

(@) Qg

When total product is maximum, marginal product becomes ................

(a) Minimum (b)) Maximum

(@ Zero (d)  Negative

SRl THY ICURA Hald WA ST, deRl fOHid Sedrgd e T |
(a)  wald kHt (b)  Fald S

(@ A (d) =

Which of the following is internal diseconomies ?
(a)  Labour disputes

(b)  Pressure on banking business

(o) Pressure on basic facilities

(d)  Problems of transporting

TIeeeh! IV STl sTaad o8 ?
(a)  ofdes |l

(b) AR FEEER dH

(0  HrEYd glaemeR aF

(d)  dEgeh I dH

P.T.O.
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Average Cost is (AC) =
(a9 AFC + AVC
(b) AFC + VC
(o0 AFC - AVC
(d FC + VC
W Td (9E) =
(@ @ a9+ 9 9 @
(b 9 g @+ & @
(0 @ ffo9 @ -4 9 @.
() T @+ 9 @
Average fixed cost cannot be ....................
(a)  One
(b) Less than one

(¢ More than one

(d)  Zero

W -ﬁ:a-{ -@?f .................. m

(@ TH

(b)  THUEN HHT

(9  THUE ST

(d) =

If average cost for 10 units is Rs. 200, what will be total cost for 10
units ?

(a0 Rs. 20 (b  Rs. 200

(o  Rs. 2,000 (d) Rs. 1,000

S 10 TMEE WA ' 200 TSR, @ 10 TWEE THY @d
PEa ?

(a) 20 . (b 200 %.

(0 2,000 % (d 1,000 .
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Theory
2. Define Business Economics and explain the characteristics of Business
Economics.
G AL A T A0 AT TR dRme T .
3. Explain the importance of elasticity of demand.

HITO= Safaehdd Hew TI< .
Or
(fenam)
State the internal economies of a business firm.

4, Explain the law of returns to scale.

ARl rHoS\id T h.

Or
(feram)

Write short notes on :

(2) Income Elasticity

(1) Cross Elasticity

dreepRrd fear femr .

€)) 3q— Aafaehal

(7)) ~ ©FH AdfEhdl.
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